JI[EEHT D EF X

1 AOp®kxr

AD;"%E“JPH:E&
FER27TE(20155) SH3E(20215)
95U L st
2(5] 89 R\: 85 ~ 89 m
oo 80 ~ 84 [anmmeny | it oo [ B0~ 84
| 75 ~ 79 m 75~ 70 RRRRaRRRe
70 ~ 74 70~ 74 m
65 ~ 69 65 ~ 69 m
60 60~ 64 P
i 55 ey I 55~ 50 fammmmnn
| 50 ~ 54 m IJ— 50 ~ 54
45~ 49 \\N _ a5~ 49
40 ~ 44 fs 40 ~ 44
L: 25 ~ 20 [RRRRRRANAN | 25~ 29
20 ~ 24 [ | 20~ 24 fom
15 15~ 19 m
10~ 14 E}\\\\ 3 10~ 14
] 0~4
12 10 8 6 4 2 0 0 2 4 6 8 10 12 10 8 6 4 2 0 0 2 4 6 8 10
SIE _ EXnADN
B EES =it
ABO# 15,253 7,869 7,384
65 EAD 2,875 1,236 1,639
" 18.8 15.7 22.2
(RSRLLE %) o5l (2741 [335]
T E 6,847 [806,290]
—HEAR 2.23 [2.13]
[ INE=ER
AO#: FERHTFHEEFRL<
AOS (SIS EMES _ B A
it B ESE
HAE# 152 75 77
ETH 121 59 62
HAERADFR) 9.97 [6.40]
=% (AOFR) 7.93 [12.61]
[ IRE=ER
SXPBAODHEF B A
k224 | ER2TE | SF1245E | SFISE
(20104F) | (2015%F) | (2020%F) | (20214F)
0~14%% 2,312 2,364 2,173 2,189 - :
15~ 6475 9,035 9575 | 10,045 | 10,189 Ho~14i  @15~64f  OesmLlE
65 LA 2487 2,735 2,848 2,875
2 KR
FERAEETE AD10FGX 40 ~64REICH ITHEFBIBRETE
SEE BiE L AC105 %
= 4133 1983 =T B =ik
BIEHEY) [ggg%] [%23.17] ] i 180.9 255.6 93.8
N = . . = 157.4 198.8 115.9
L R B [196.11 [118]
AP . . L 54E0D B it
. : _ N
=3 . . 5 LN !
e 1y e I O I
i . . AO105 %t . . .
"R [14.3] [7.7] ! 1413 970 443
= 15.7 12.1 A D105 5 15.9 22.3 9.7
& [7.3] [6.4] ]
[T 5D K G

gooooooozzrOO00OO0O0OO00000



FimABE T E (ERSFREDRE)

1L
SE——————————T—
RS

B)|Er O=8§8

BHFED

(&Z1%)

D K &

i IR A

=N

450

400 350 300 250 200 150 100 50 0 0 50 100 150 200

25(

S arErrOEESSSsSs
S
ASS————————————
S-S

20

o
o
()]
—_
o
—_
(<]

15 10 5

FHRBERCEOFRER

600

400

200

50
40 Y iﬁg 20 ./"
30 TATRER g | ,A\ X/ \
K \ ! .
20 e wRE 20 | /\}: AN \
‘_--*
10 —x—mmE | 10 A\I'/C/ RIS
/,
0 R LA S
H29 H30 RO1 RO2 RO3 H29  H30 ROT RO2 RO3
SMR(Z#4L3 1)
BEE | JIEZ3i;
Bt i
XEE §i§$$ﬁl///%/0/
9o
—o—H29~R03

2(

Bt i w00

—— EEH
=27

-b--- LR

200

100
— o mE

"E

ZERDRAEFA00

Bt
ﬁﬁrﬂ% < FEHA
ENFEMAR
139
B A O

fhiA

#ADataBoxI AO-HFDEIE ) (HREI0R1HERTE)

EEFEHEAINOBBRERFT—4]

BEATEREARABIRICEIAO, AOFRERUHESRIGIZEI1RA1R)

E: SMRICERALEAORURTEHITILZELZSOSERDEET

A= #ZDataBox AQ - HHDEFETIOAD
BEEMEREARGRICESAD, AOBEER U OHEHE

2




